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15 marksl 1. Find the general solution of the following system of equations. Write your answer in
parametric vector form.

$1+2$2+2(I}4 =1
—Zy+ %o+ 6z3 +4z4 =2
2T + Ty — T3+ 24 =0
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10 marks| 2. Are the following 3 vectors linearly independent? Explain why or why not.
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10 marksl 3. Consider the following matrix

0
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For what values of ¢ is null(A) equal to {0} where 0 is the zero vector?
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2

1 0 '
10 marksl 4. Letv, = (2) , Vg = ( 0 ), vy = (4) and V = span{v,, v, v3}. Find a basis for V
1

—1 3
{(make sure to show your work).
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g state whether the statement is TRUE or FALSE (n'0 justifica-

(1) If vectors vy, vy and v in R3
v; and Va.

-

(2) Letw,, ..., v be vectors in R™ If k£ > n then v,,

(3) For a consistent linear system Az = b where A is a matrix with m rows and n
columns and b is a nonzero vector in R™, the solution set is a subspace of R".

F

are linearly independent then so must be the vectors

-+ Uk are linearly dependent.

(4) If A is a matrix with m rows and n, columns, then rank(A) < m and rank(A) <

T

(5) Let B = {v,,v,} be a basis of a subspace W of R3, Then the 3-
%
[Vs of a vector v in W is a vector in R®.

F

coordinate vector



